(Evelyn Hone College-Business Studies Depart.)


TUTORIAL QUESTIONS (MKT II-Management Accounting)
1. (a) State the main differences between financial and management accounting.

(b) Define management accounting and outline the purposes for which it is 

      required by management.

(c) What is responsibility accounting?

2. You recently graduated with a diploma in Marketing from Evelyn Hone College and joined E.M.Lembelani Marketing Consultancy firm, as a marketing trainee. Your marketing manager is concerned with the wastage of cash being spent by staff in other departments on assets in excess of the firm’s needs. She does not know what to do to stop this wastage. As a fresh graduate, you understand very well the process of material procurement. She has approached you for advice on what procedures and controls should be in place to ensure that the materials bought are to be used for business purposes and to meet the present needs.

Required:  

(a) In the context of E.M.L. Marketing Consultancy firm, explain in detail the stages and related controls involved in the process of procuring materials.

(b) Briefly explain the importance of inventory control in firms such as E.M.L.                

3. In respect of material MS61, the following data are available:

Lead-time from suppliers is estimated as maximum 4 months, minimum 2 months, and average 3 months.

Budgeted consumption:

· Maximum 300 units per month;

· Minimum 50 units per month;

· Average 150 units per month;

· Yearly 1800 units;

· Storage costs are 25% p.a. of stock value;

· Ordering costs are K200,000 per order;

· Price per unit is K3,200.

You are required to calculate:

(a) Re-order quantity

(b) Re-order level

(c) Minimum stock level

(d) Maximum stock level

(e) Average stock level

(f) Stores turnover 

4. TMX Limited produces a product which as a constant monthly demand of 4000 units.  The product requires a component, which TMX Limited purchases from the supplier at K100,000 per unit.  The component requires a three-day lead-time from the date of order to the date of delivery.  The ordering cost is K 6,000 per order and the holding cost is 10%.

a) You are required to calculate:

(i) The economic order quantity                                                
(ii) The number of orders required per year                               

(iii) The total cost of ordering and holding the components for the year 
b) Discuss the problems which most firms would have in attempting to apply the   

            EOQ formula.                                                                                      

c) Explain what you understand by the terms “buffer stock” and “lead time” and briefly consider any stock policy that would minimize or eliminate such stockouts.                                                                                    
5. The following information is provided concerning a particular raw material:



 
Average usage

1,000 kilos per day




Minimum usage
800 kilos per day




Maximum usage
1,350 kilos per day




Order quantity

9,000 kilos


    The stock level is reviewed at the end of each day and an order is placed the 



 following day if the normal re-order level has been reached. Delivery is reliably 



expected at the beginning of the fourth day following order



Required;

(a) From the above information calculate three normal control levels used for stock control purposes;

(b) Draw a graph demonstrating the changing level of stock of the material based on the following actual usage over a 14-day period:


First five days 1020 kilos per day


Next four days 1200 kilos per day


Final five days 900 kilos per day

The stock at the beginning of day 1 was 6,000 kilos. Show clearly on the graph three control levels calculated in (a).

(c)   Contrast the actual minimum stock level over the period with the normal control level established, and comment on the difference and any action required.

6. Lusaka City Council (LCC) places orders for various stationery items at quarterly intervals. In respect of an item of stock coded A32, data are: annual usage 5,000 boxes; minimum order quantity 500 boxes; cost per box K20, 000.                                               Usage of material is on a regular basis and on average, half of the amount purchased is held in inventory. The cost of storage is considered to be 25% of the inventory value. The average cost of pricing an order is estimated at K125,000.       The town clerk of the council has asked you to review the present situation and to consider possible ways of effecting cost savings.

You are required:

(a) Tabulate the costs of storage and ordering item A32 for each level of orders from four to twelve placed per year;

(b)  Ascertain from the tabulation the number of orders which should be placed in a year to minimize these costs;

(c) Produce a formula to calculate the order level which would minimize these costs – your formula should explain each constituent part of the formula and their relationships;

(d) Give an example of the use of the formula to confirm the calculation in (b) above.

(e) Calculate the percentage saving on the annual cost which could be made by using the economic order quantity system;

(f) Suggest two other approaches, which could be introduced in order to reduce the present cost of storage and ordering of stationery.

7. (a) From the data given below calculate the value of the closing stock using:

i. FIFO method

ii. LIFO method

iii. Average price method


Receipts:
1 October
80 units at K2,500




8      “

80     “    “  K3,000




16    “

100   “    “  K2,400




20    “

40     “    “  K3,500


Issues:

2      “

60 units




9      “     
60    “




18    “

80    “




22    “

50    “

             (b) All issues from stock were transferred to the shop and were sold at K5,000 

         
each. Prepare a trading account using the three methods of pricing issues as



calculated above.

8. (a) Atlas Limited is having difficulty costing material x to the various jobs that is used on.  The material is bought in bulk and recent receipts and issues have been:   


June 1 Balance b/f 1000kg @K 4,000


June 3 Receipts 2000kg @ K 5,000


June 6 Receipts 1500kg @ K 5,500

      June 9 Issues     2500kg


June 12 Receipts 3000kg @ K 4,500

      June 14 Issues    3500kg

      Required:

a) Cost the issue of material x for June and calculate the value of the closing stock on the following bases:

(i) FIFO                                                                        

(ii) LIFO 

(iii) Weighted Average Cost                                                               



(b) Discuss the relative merits of three methods of pricing the issue of raw 



     materials to production.  .  

9.  Cost must be classified to facilitate its arrangement in as flexible a manner as      possible.

Required:

(i) Explain the meaning of the ‘classification of costs’ and give some practical examples of the ways cost is classified.                                      

(a) Explain the term “cost centre” and show how cost centres can be used in a management accounting system.                                                        

(b) Explain the meaning of the following:

i) Fixed costs                                                                            

ii) Variable costs 





      
iii) Semi-variable

iv) Opportunity cost      
     

10. Write short notes to explain each of the following in the context of materials control

(i) Continuous stocktaking                                                         

(ii) Perpetual inventory system                                                    
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